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Directions (36-43): Read the following passage and answer the given questions. Certain words are
highlighted to answer some of the questions.

Emotional intelligence (EQ) is increasingly recognized as a key component of success in both personal and
professional realms. While men and women may possess similar overall levels of EQ, research consistently
shows that they tend to excel in different emotional competencies. Women often score higher in areas such
as empathy, interpersonal relationships, and social responsibility, whereas men tend to perform better in
assertiveness, stress tolerance, and self-regard (or confidence). These differences lay the foundation for
the distinct emotional approaches each gender brings to the workplace, shaped by both biological factors
and the powerful process of socialization.

Socialization plays a significant role in determining these gender-specific strengths. From an early age, boys
and girls receive different messages about how they should behave. Boys are often to be
competitive, confident, assertive, and decisive, and are taught that winning is of primary importance. Girls,
on the other hand, are socialized to be nurturing, empathetic, and emotionally expressive. They learn to
value relationships and cooperation over competition. These early experiences influence the development
of specific emotional intelligence skills, with boys becoming more assertive and confident and girls
excelling in empathy and interpersonal communication.

As boys and girls grow into adults, these learned behaviors are reinforced by societal norms and
expectations. In the workplace, these socialized behaviors manifest in ways that can impact professional
roles and leadership opportunities. Men'’s strengths in assertiveness and self-regard often give them an
advantage in competitive environments, helping them excel in leadership positions. Meanwhile, women'’s
strengths in empathy and interpersonal relationships make them highly effective in teamwork and
collaborative settings, though these skills are sometimes undervalued in leadership hierarchies.

These gender-based differences in emotional intelligence may contribute to the leadership gender gap.
Men's natural tendencies toward assertiveness and confidence can help them rise in hierarchical
structures, while women’s empathy and relational strengths are often better suited for team-oriented roles.
Recognizing and valuing these differences can help organizations leverage the diverse emotional strengths
of both genders, fostering a more balanced and inclusive leadership landscape.

Q36. According to the passage, which of the following statement(s) is/ are true?

(I) Emotional intelligence (EQ) is primarily shaped by biological factors, with little influence from
socialization.

(II) Women tend to excel in empathy, social responsibility, and interpersonal relationships according to
research.

(IIT) Assertiveness and stress tolerance are often considered key emotional competencies where men
perform better.

(a) Only (I) is true

(b) Only (II) is true

(c) Both (II) and (III) are true

(d) Only (III) is true

(e) All statements are true
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Q37. Which of the following statements is incorrect based on the passage?

(a) Men’s assertiveness and self-regard give them an advantage in hierarchical leadership positions.

(b) Women'’s relational strengths are particularly well-suited for competitive, high-pressure roles in
leadership.

(c) Boys are often encouraged to be decisive and assertive from an early age.

(d) Socialization influences the development of emotional competencies for both genders.

(e) Emotional intelligence skills learned in childhood are reinforced by societal norms as individuals grow
older.

Q38. According to the passage, which of the following statement(s) is/ are true?

(I) Women'’s emotional intelligence strengths are undervalued in hierarchical structures, particularly in
leadership positions.

(II) Men tend to perform better in teamwork and collaborative settings due to their confidence.

(IIT) Societal expectations reinforce the emotional competencies that boys and girls develop early in life.
(a) Only (1) is true

(b) Both (I) and (III) are true

(c) Both (II) and (III) are true

(d) Only (II) is true

(e) All statements are true

Q39. Which of the following words has the similar meaning as “lay” (as used in the passage)?
(a) Establish

(b) Cover

(c) Remove

(d) Complicate

(e) Dismiss

Q40. Based on the passage, which of the following can be logically inferred about gender differences
in emotional intelligence?

(a) Women's strengths in empathy and interpersonal relationships make them more suitable for leadership
roles than men.

(b) Men’s performance in assertiveness and confidence is exclusively the result of societal conditioning,
with no biological factors involved.

(c) Organizations that recognize and value both genders' emotional strengths can create more balanced
and effective leadership.

(d) Women are less likely to succeed in competitive environments because they lack confidence and
assertiveness.

(e) Emotional intelligence competencies between men and women are so different that they cannot
effectively collaborate in professional settings.
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Q41. Which of the following can be inferred about the role of societal norms in shaping emotional
intelligence, based on the passage?

(a) Societal norms only affect women’s emotional intelligence, particularly in developing empathy and
interpersonal skills.

(b) Boys and girls are socialized in a way that equally promotes both assertiveness and empathy in both
genders.

(c) Emotional intelligence is fixed and cannot be influenced or altered once societal norms have shaped it
during childhood.

(d) Societal expectations reinforce gender-specific emotional skills, leading to men excelling in competitive
environments and women in teamwork.

(e) Societal norms have no influence on emotional competencies, which are purely biologically determined.

Q42. What is the antonym of “approach”?
(a) Withdraw

(b) Assist

(c) Destroy

(d) Engage

(e) leverage

Q43. Choose the correct word to fill in the blank:
(a) persuaded

(b) discouraged

(c) encouraged

(d) influenced

(e) restricted

Directions (44-45): In each of the following questions, a sentence with four highlighted words is
provided. These highlighted words may be either misspelled or used inappropriately. Select the
incorrect word as the answer, and if all the highlighted words are correct in spelling and usage,
choose ‘All are correct’ as answer.

Q44. The children's favorite activities at the camp was hiking through the forest trails.
(a) favorite

(b) activities

(c) trails

(d) hiking

(e) All are correct

Q45. She felt an overwhelming sense of joe as she watched the

sunset, its vibrant colors painting the sky. ALL EXAMS

(a) watched ONE SUBSCRIPTION.
(b) vibrant

(c) overwhelming

(d) joe

(e) All are correct

10 | www.bankersadda.com Adda247 App


http://www.bankersadda.com/
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en
https://applinknew.adda247.com/d/2QGUSmNnAg

Q46. In the following questions, a few sentences are given. Identify the sentences that are
grammatically and contextually correct.

(I) The team has worked really hard and deserves all of the praise they are receiving.

(IT) She was excited to start her new job, but her nervousness was affecting her confidence.

(III) Each of the students were required to submit their projects before the deadline.

(a) Only (I)

(b) Both (II) and (III)

(c) Only (III)

(d) Both (I) and (II)

(e) All (), (1), and (III)

Q47. In the following questions, a few sentences are given. Identify the sentences that are
grammatically and contextually incorrect.

(I) The manager, along with her team, were discussing the upcoming project in great detail.

(I1) If I would have known about the event earlier, I would have definitely attended it.

(III) The city has experienced a significant drop in crime rates, largely due to new safety measures
implemented last year.

(a) Only (I)

(b) Both (II) and (III)

(c) Only (1II)

(d) Both (I) and (1I)

(e) All (), (1), and (III)

Q48. In the following questions, a few sentences are given. Identify the sentences that are
grammatically and contextually correct.

(I) If you would have studied harder, you could have passed the exam.

(IT) Despite the rain, the outdoor event went on as planned, attracting a large crowd.

(III) The company's profits have been steadily increasing due to its new marketing strategy.

(a) Only (I)

(b) Both (II) and (III)

(c) Only (IIT)

(d) Both (I) and (1I)

Directions (49-53): Rearrange the following sentences in the proper sequence to form a meaningful
paragraph; then answer the questions given below them.

(A) The government has therefore employed authorities to conduct fumigations, as the situation continues
to escalate.

(B) Despite efforts to contain the situation, the bed bugs have infested public transport, popular tourist
destinations, and even airports.

(C) Paris, a global tourist destination, has recently faced a troubling resurgence of bed bugs across various
neighborhoods and popular attractions in the city.

(D) This outbreak has raised concerns not only among residents but also tourists, many of whom worry
that the pests could travel with them back to their countries.

(E) Experts suggest that international travel and dense urban environments have facilitated the rapid
spread of this infestation.

(F) Furthermore, bed bugs have become a common sight in metros and airports, making control measures
even more challenging.
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Q49. Which of the following should be the FIRST sentence after rearrangement?
(@b
(b) A
(0B
(dE
(e)C

Q50. Which of the following should be the SECOND sentence after rearrangement?
(a) A
(b) F
(QE
(d)D
(e)C

Q51. Which of the following should be the THIRD sentence after rearrangement?
(@cC
(b) E
(oD
(d)A
(e) F

Q52. Which of the following should be the FOURTH sentence after rearrangement?
(a) B
(b) E
(oD
(d)C
(e)A

Q53. Which of the following should be the LAST sentence after rearrangement?
(@cC
(b) B
(A
(d)D
(e)F

Q54. In the following questions, a few sentences are given. Identify the sentences that are
grammatically and contextually correct.

(I) The children was playing in the garden while their parents watched.

(IT) By the time we arrived, the concert had already started.

(IIT) Neither of the candidates were prepared for the final interview.

(a) Only (1)

(b) Both (II) and (III)

(c) Only (III)

(d) Both (1) and (1I)

(e) Only (ID)
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Q55. In the following questions, a few sentences are given. Identify the sentences that are
grammatically and contextually incorrect.

(I) The students who have completed the assignments on time will receive extra credit from their
instructor.

(I1) Despite of the heavy traffic, we managed to reach the airport on time for our flight.

(IIT) She has been working on the project since six months, but there is still a lot left to do.

(a) Only ()

(b) Both (II) and (III)

(c) Only (III)

(d) Both (I) and (1II)

(e) All (), (1), and (III)

Directions (56-57): In each of the following questions, a sentence with four highlighted words is
provided. These highlighted words may be either misspelled or used inappropriately. Select the
incorrect word as the answer, and if all the highlighted words are correct in spelling and usage,
choose ‘All are correct’ as answer.

Q56. When the crown on the head of the newest king, all of the people at the coronation went wild with
priase.

(a) priase

(b) newest

(c) crown

(d) coronation

(e) All are correct

Q57. Because we did nothing but sit in the hotel room, our vaccation was vapid and uninteresting.
(a) vaccation

(b) vapid

(c) hotel

(d) uninteresting

(e) All are correct

Directions (58-62): In each of the following sentences, a word is
missing and replaced by a blank. Choose the best word from the
given options that can fit into the sentence without altering the Test

intended meaning.

Q58. She decided to donate a portion of her earnings to the local

that supports underprivileged children. ALL EXAMS,
(a) atFOFIty ONE SUBSCRIPTION.
(b) clarity
(c) calamity
(d) acidity
(e) charity
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Q59. The art gallery hosted an exhibition featuring works from some of the most artists
in the world.

(a) ignorant

(b) latent

(c) removable

(d) prestigious

(e) religious

Q60. The book had a/an impact on her perspective, changing the way she viewed the
world.

(a) profound

(b) tripping

(c) encroach

(d) oversea

(e) accurately

Q61. The sudden power outage threw the entire city into , with traffic jams and
confused crowds everywhere.

(a) concur

(b) chaos

(c) growth

(d) peculiar

(e) nascent

Q62. Once the switch was flipped, the machine was and began operating smoothly.
(a) weltered

(b) invoked

(c) activated

(d) captivated

(e) deactivated

Q63. In the following question, a phrasal verb is given in bold, it is then followed by three sentences
which has used the given phrasal verb. Choose the best set of alternatives from the five options given
below which has correctly used the given phrasal verb without altering the meaning of the sentence.
Come up

(A) The issue of parking spaces came up during the meeting, and we spent an hour discussing it.

(B) An interesting opportunity came up, so I decided to apply for the job.

(C) The sun will come up in the west tomorrow, according to the weather report.

(a) BothA&B

(b) Only C

(c) BothB&C

(d) Only A

(e) BothA&C
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Q64. In the following question, a phrasal verb is given in bold, it is then followed by three sentences
which has used the given phrasal verb. Choose the best set of alternatives from the five options given
below which has incorrectly used the given phrasal verb without altering the meaning of the
sentence.

Get across

(A) They got across the mountain by taking a shortcut through the forest.

(B) The presenter used charts and examples to get across the complex data in a clear manner.

(C) The speaker used visuals to get across his point effectively to the audience.

(a) BothA&B

(b) Only C

(c) BothB &C

(d) Only A

(e) BothA&C

Q65. In the following question, a phrasal verb is given in bold, it is then followed by three sentences
which has used the given phrasal verb. Choose the best set of alternatives from the five options given
below which has correctly used the given phrasal verb without altering the meaning of the sentence.
Check out

(A) Before you leave the hotel, don’t forget to check out at the reception desk.

(B) I'm going to the library to check out some books for my research paper.

(C) You should check out that new restaurant downtown; I've heard great things about it.

(a) Only A

(b) BothA&C

(c)BothB &C

(d) AllA, B, C

(e) Only B

Directions (66-70): A Qe #T eAMIEH AEAAT L T A= (T T 047 F I 3| qrfersr 9 (K, L, M,
3T N) STERT-S1T I8 | Q¥ (X 3 Y) SAAT-STAT HIAAIAT ST ST TS qTShl ol ol ST 3 39 AgA | g &l
Fafaat g A=t T FIR A T GAT IATAT g1 THT ST TG & It Y ST I TS qTSHI Al Fol 94T HY
IAqTAT B

e (X S Y) ST o<1 S S5 (X 3R Y) TR o< TS Ve E IR EELEE]
K 328 450 210
L 560 980 320
M 440 730 90
N 620 350 195

Q66. T AET K H Y GIRT =T TS FTU il T G&AT, g K H Y GIRT AT TS STShi ol el S&AT T 2/597 fgedr
g, A AT K H X T ST T I it et AT 3 g M A X T 91 T Argehl Y oot ST o6 i sfa< A
Hfm
(a) 22
(b) 16
(c) 23
(d) 15
(e) 18
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Q67. AT N H X GTT <Y TS T il T G&AT, TG M A X T AAT TS (S
FTHE T T &7 T 20% F7 gl Tg< N F Y gIRT o<1 T F1 il o7 [
AT FT AZT KH Y GTT F=AT T FTSHT At Fof €6AT F AT AT {10
(a) 3:1

(b) 2:1
ALL EXAMS,
(c) 2:3 ONE SUBSCRIPTION.
(d) 1:4
(e) 1:3

Q68. T L F X 30X Y 5T 9= T I} it T T&AT T ATITT FAM: 3 : 4 {1 17 Fiforg foF ogx L& X gra
=T T HA B T GEAT, TEENH Y T =1 TS qrght it For qeqr F fowaeit srfers ar #7 g

(a) 225

(b) 210

(c) 195

(d) 145

(e) 125

Q69. TET M # X GIT AT TS ATShI T FoT T&AT, AT N H X 3T Y ST TF AT 41 75 I 01 T 9T & Fohaaey
e stfere a1 F9 87

(a) 2%

(b) 0%

(c) 5%

(d) 10%

(e) 7.5%

Q70. BT M ¥ Y GIRT ST TS FIXI i T G&AT, Mg L X G ST TS a1l it FF 94T & 200 ATAF
AET M X gTXT ST T H1 Y et €e&AT, < K& X 307 Y grr v arer 9=t 1€ /1< it o1 wear v e
yfaera 82
(a) 64%
(b) 58%
(c) 42%
(d) 79%
(e) 82%
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Directions (71-75): Rufeira Y@ sierg &1 sag@de steqae i< i< A= iR 17wt & S9x 31 3Er e
T STRT-ITAT T A I STAIT-STAT GhTAT GIT AT T, Foof A& T 1/3 AT LT B

800

— R
~ ~ \\

200

100

0
A B C D E

=@==202]1 =@=2022

e: (i) 2023 H THF TR T ST T AEC3 il et TedT, 2021 6 TAAT 7 20% ATe g
(i) TIF T H TAF TR GIT SAT TS TEG3N 0l FoT FEAT, ST LET AT H &F T 8, T TS Fef T&3A FT T
fagrs 21

Q71.2023 & D gIT S+ 1< FEE I $o TEAT, 2022 § A FIRT ST TS i it FoF gt & v whvaa w5
& () ?

(a) 23%

(b) 19%

(c)11%

(d) 15%

(e) 8%

Q72.2022 ¥ B gIRT 94 T aegqil it Fo7 F&AT T 2023 H € T I T2 a&g@it F $oF 947 F Squra q1a
Hfm
(a) 1:2
(b) 2:3
(c) 3:2
(d) 3:4
(e) 4:5
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Q73.2023 ® D 3T E gTT ST T qeqei Y Fpef weaT auT 2021 § A i< B g7 a1 T TG0 $Y § G=&qTF
f= s T ST

(a) 180

(b) 194

(c) 150

(d) 158

(e) 100

Q74.2023 & A, B 3T C 51T J=T T A ¥ 1 ST T TRT ATT Q)
(a) 4235
(b) 4450
(c) 4980
(d) 4752
() 4898

Q75.2023 % B 3T D TXT TF AT I TE FEgel ¥ For deqr, fA7 aut F A gr 3+ w8 Fwge f o weqw
T Tt arfers ar w7 82

(a) 2676

(b) 2194

(c) 2150

(d) 2058

(€) 2100

Directions (76 - 80): TAH & YA% W ¥ T G&AT JE@HAT &I M8 gl TAF JEAT H had TH 96T TAd gl T
HET AT g

Q76.188, 177, 199, 166, 210, 150, 221
(a) 188
(b) 221
() 150
(d) 199
(e) 210

Q77.18225, 6075, 2025, 675, 220, 75, 25
(a) 25

(b) 75

(c) 220

(d) 18225

(e) 6075
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Q78.210, 228, 250, 274, 302, 332, 365
(a) 302
(b) 332
(c) 210
(d) 250
(e) 365

Q79.304, 300, 316, 332, 364, 428, 556
(a) 300
(b) 316
(c) 304
(d) 332
(e) 428

Q80. 2194, 2175, 2152, 2123, 2092, 2054, 2014
(a) 2014
(b) 2054
(c) 2194
(d) 2092
(e) 2123

Directions (81-85): ferfera st & werar= R (2) 3 A1+ 9= 47 SAqHTAT JT ATR? (309 G 91
T ITUTAT LA T AT A1 ht ST B

Q81.39.89 1 5.03% + 450 #T1 10.09% =?
(a) 44
(b) 47
(c) 39
(d) 54
(e) 59

Q82./840.99 + 361.09 T g =7x 4.88
(a) 59
(b) 53
(c) 65
(d) 50
(e) 43

Q83.12.213 — 108.02 = 399 FT 24.90% +?
(a) 1090
(b) 1120
(c) 1240
(d) 1520
(e) 1130
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0,
599T3208% . 1 _o2_ 44

1.99 4

Q84.
(a) 29
(b) 24
(c)17
(d)12
(e) 20 ALL EXAMS,
ONE SUBSCRIPTION.

256.03 . 3.98
1599 ~ 1.99

st.( ) =7+ 12.01
(a) 91

(b) 96

(c) 103

(d) 87

(e) 67

Q86. A, B 3 C &< foret w1 & 4 A1 ® FHd §, T B sTohet SHT w1 &l 24 37T  FT aham g1 i< C it &awar
B &1 T&@T & 300% T8 &, AT A 3 C G 3(ehed 13 &l T FXA | [T T AT it §&AT 3 A1 7 AL AT D12
(a) 18

(b) 12

()11

(d) 15

(e) 20

Q87. P & AAHT S &1 Q FT AT AW T 1 Y & ATITT 2 : 1 1 R T AT &A1, P 3T Q F¥ qqHT M & a9
FUALE! 16 T4 98, R¥FT 1 10 a9 off1 P, Q 3T R T FqHT S T T (1 H) 1A Q)

(a) 66 a9

(b) 78 7

(c) 82 &

(d) 99 T%

(e) 102 FF

Q88. 12200 T9 FT TTFRY FT AifAF €T & TSHT AH 10% T I Fit T & ¥ 6T & forT Il AT I 3K
ST B H GHT S 8 I 99T & Torg aremor sarer ux Aaer gt smar 81 3ft a9 Tisemsit & yra sa1sr a4
&, A1 AT A § e f 15 Ty [ma fiferg?

(a) 4350 =0T

(b) 4340 =9

(c) 4200 =9

(d) 8000 T

(e) 8500 =9
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Q89. A, B X C 7 F9T: 12,000 ¥4, 12,000 F9F i< 8,000 T4 F RAT F 919 T 99T L 441 B
Her ‘X’ Al & forg fAaver R, Safs ¢ 7 v o uge '} 7 ugs saara S fam iy A 3200 €
F INF AT § T 1800 =0 A<, A7 ‘%’ &1 A9 w1q Fiforg?

(a) 2

(b) 8

(c)6

(d) 4

(e)5

Q90. 37 A, 230 HieT A« TWHIH F 29 e F T FHIAT § AT e B, 150 HieT Fd WHIH il 24 A% | )
FAT g1 o B FSradt da1s 450 HieT g, 98 TF & AT H 990 gTST A T 160 e | I FIAT &1 ATT HIforg
3 I A F1 50 HieT da T 1 TR H A a1 a9 T (37 B ¥ 1fa > 37 A Fr a1faq)?

(a) 16 T

(b) 22 e

(c) 20 TFHE

(d) 17 5

(e) 25 T

Q91. ST ST § AT Y A 3T &= % AFaspet ATa i T T AT 4 : 3 ) AT & & AqHA 7 5 § 560
Y i T T At 81 T gy AT o iager 480 T it T a7 wA | ot T g sra i

(a) 85

(b) 9 5

(c) 752

(d) 552

(e) 10 =<

Q92. A ¥ UF T Fl IHH T T & 60% AT o T 3ifeha (AT 59 98 3ifoha Ho7 U 4d% e IaT &, T SH
28% AT graT 81 AT a8 6d% Fe AT &, TT ATH /AT FTIA % AT i o1T?

(a) 12%

(b) 15%

(c) 18%

(d) 20%

(e) 24%

Q93. Fr=or A H g i U1 T rquTa 9 : 5 g1 rsror B # g it wraAT Hsyor A § g it 94T F 20% ATEAF §
I Frsror A § qret it /T, Fesror B # 9Tt Y AT € 25% AT g1 AR QA [ § i i A B Ier
54 Hex g, ar Tt A & frsqor iy et wraAT 1@ Hiforw?

(a) 72 rex

(b) 64 Frex

(c) 84 fex

(d) 75 e

(e) 80 Ffex
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Q94. TH FATH 24 AEH AT 6 ASTHAT T 3T I 40 FFerium &1 T 87 F siraq ao &l Freshe aelt A
FT I 4 TR w9 g1 STrat &, a1 o 58 wstaat &1 siaa a=i J1a fifeg?

(a) 52 f=Frm

(b) 56 fFuT

(c) 58 fFuT

(d) 55 =

(e) 51 =

Q95. T T % AT AT T AT & ST T AT HHLT: 3 : 2 F1 F T HAT A T FATS 3 TG | AT
T IIRHATT 40 HieX g, TV ST it TS 719 Fiforg?

(a) 12 HTex

(b) 8 Hiex

(c) 10 Htex

(d) 15 Hex

(e) 17 Hiex

Directions (96 - 100): fR=rforfera SeT 1 sargE® sreaae ¢ R A= faw 7w i & I | 7 Fertar § & i srerr-
AT ATRE (A, B 3T C) s AW SHad 4T gL 5l

B ZTRT ST T e 7 50 8 3T A T SO T 9 ST B ZTT G1¥ T IH FT ATITT FHHA: 3:2 1 A T g T FeF IH
T A FTRT ST T Fe T FT AT 4:3 g1 A FTT T T IH 3T B FTT ST T I3 3T H&AT F7 $fea 105 81 C FTT S
T %l T, B G BT¥ T FeA T T 20% ATF & 3T C FIT I T Fef 7 AT ZTE T I T SATITT 42 58

Q96. A T S{Td T F A7 3T C FRT X T T I T AT AT i forQ)
(a) 2:1
(b) 1:1
(c) 1:3
(d) 4:3
(e) 5:2

Q97. B ST X T F W, A G (I T FoA I FT Fohae1 Tirera g7
() 66.67%

(b) 32.5%

(c) 8.33%

(d) 62.5%

OECEEIEGE]

Q98. B 3T A BT X ITT FA A7 /T ART AT i forQ)
(a) 210
(b) 220
(c) 250
(d) 320
(e) 240
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Q99. af D TT TR T F I A T X TT FF I it ToAT A 25% S8 § SfiT D gRT STt TT FA Y C G S
T A AW 3 e & I AT §, AT D T X T T SH AT S T F A F S+ T AL AT 107

(a) 147

(b) 149

(c) 142

(d) 139

(e) 129

Q100. A i< B g7 STIQ T Fo A/ qAT C I TN A I 7 a1 HIra
(a) 98.25

(b) 91.67

(c) 83.33

(d) 96.67

(e) 129

Solutions

Solutions (1-5):
F

$1. Ans. (e)
S$2. Ans. (a)
$3.Ans. (a)
S4. Ans. (b)
$5. Ans. (¢)

Solutions (6-8):
O(+)=M(-)

T(-)=R(+)

P(+) =V(-)—N(+)
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S6. Ans. (e)

Sol. V & ST 991 T20 &

S7. Ans. (b)
$8. Ans. (a)

S9. Ans. (b)
Sol. TACT

Solutions (10-14):

g

1955

69

1967

57

1973

51

1980

44

1987

37

1991

33

2003

21

olx|lzlz|-|lo|T

$10. Ans. (d)
S$11. Ans. (c)
$12. Ans. (b)
$13. Ans. (e)
S$14. Ans. (a)

Solutions (15-19):

As<

The

ud

Play

uk

Seen

ua

In

um

Same/Game

us/ut

Jar/Is

uh/uw

Played

ub

$15. Ans. (b)
$16. Ans. (d)
$17. Ans. (¢)
$18. Ans. (c)
$19. Ans. (a)
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Solutions (20-24):

B E A F C D
I I I I I I

Wt m e  prime

$20. Ans. (d)
$21. Ans. (b)
S$22. Ans. (a)
$23. Ans. (d)
S24. Ans. (e)

ALL EXAMS,
ONE SUBSCRIPTION.

$25. Ans. (b)
Sol.. % - FBI

TEAT AT T TETT KT ATAT AT T g 3T AT AT Tgol AT T JTET SRTAT AT g

Solutions (26-30):

ElE) LEQES
D Brass
C Jute
F Iron
B Leather
A Wood
E Steel
$26. Ans. (b)
S$27. Ans. (e)
$28. Ans. (a)
$29. Ans. (b)
$30. Ans. (¢)
$31. Ans. (¢)
Sol.
ORGANIZE
I

Solutions (32-34):
T (60kg) > S =P (40kg) >Q = R/U=U/R

$32. Ans. (c)
$33. Ans. (b)
S$34. Ans. (c)
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$35. Ans. (e)
Sol. CONVERSION
DNOUFQTHPM

$36. Ans.(c)

Sol. According to the passage, emotional intelligence is shaped significantly by socialization, not just

biological factors, making statement (I) false. However, statements (II) and (III) are true because the

passage states that women excel in empathy, social responsibility, and interpersonal relationships, while

men perform better in assertiveness and stress tolerance.

Analysis:

1. (I) Emotional intelligence (EQ) is primarily shaped by biological factors, with little influence
from socialization.

o The passage states that both biological factors and socialization shape emotional intelligence, but it
emphasizes that socialization plays a significant role in shaping gender-specific EQ strengths.
Therefore, this statement is false because it incorrectly downplays the role of socialization.

2. (II) Women tend to excel in empathy, social responsibility, and interpersonal relationships
according to research.

o The passage directly supports this claim: “Women often score higher in areas such as empathy,
interpersonal relationships, and social responsibility.”

o This statement is true.

3. (III) Assertiveness and stress tolerance are often considered key emotional competencies where
men perform better.

o The passage mentions: “Men tend to perform better in assertiveness, stress tolerance, and self-regard.

o This statement is true.

Based on this analysis, the correct answer is: (c) Both (II) and (III) are true.

”

$37. Ans.(b)

Sol. Statement (b) is false because the passage highlights that men's assertiveness and self-regard give

them an advantage in competitive and hierarchical leadership roles, not women'’s relational strengths.

Women'’s strengths are better suited for teamwork and collaborative settings. The other statements

accurately reflect the passage.

Analysis:

1. (a) Men’s assertiveness and self-regard give them an advantage in hierarchical leadership
positions.

o The passage states: “Men’s strengths in assertiveness and self-regard often give them an advantage in
competitive environments, helping them excel in leadership positions.”

o This statement is correct.

2. (b) Women'’s relational strengths are particularly well-suited for competitive, high-pressure
roles in leadership.

o The passage contrasts men'’s assertiveness and confidence with women'’s strengths in empathy and
interpersonal relationships. It suggests that women'’s skills are well-suited for teamwork and
collaboration but implies that these skills may not always be valued in competitive leadership
roles.

o This statement is incorrect because women’s relational strengths are described as better suited
for team-oriented roles, not high-pressure, competitive leadership environments.
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3. (c) Boys are often encouraged to be decisive and assertive from an early age.
o The passage states: “Boys are often encouraged to be competitive, confident, assertive, and decisive.”
o This statement s correct.
4. (d) Socialization influences the development of emotional competencies for both genders.
o The passage emphasizes that socialization plays a significant role in shaping emotional
intelligence for both men and women.
o This statement is correct.
5. (e) Emotional intelligence skills learned in childhood are reinforced by societal norms as
individuals grow older.
o The passage states: “As boys and girls grow into adults, these learned behaviors are reinforced by
societal norms and expectations.”
o This statement is correct.
The incorrect statement is: (b) Women’s relational strengths are particularly well-suited for
competitive, high-pressure roles in leadership.

$38. Ans.(b)

Sol. Statement (I) is true because the passage explains that women’s emotional intelligence strengths like

empathy and relational skills are undervalued in leadership roles. Statement (III) is also true, as the passage

indicates that societal norms reinforce the emotional skills developed in childhood. However, statement

(II) is false because men are said to excel in competitive environments, not necessarily in teamwork and

collaborative settings, which are associated more with women’s strengths.

Analysis:

1. (I) Women's emotional intelligence strengths are undervalued in hierarchical structures,
particularly in leadership positions.

o The passage mentions: “Women’s strengths in empathy and interpersonal relationships make them
highly effective in teamwork and collaborative settings, though these skills are sometimes undervalued
in leadership hierarchies.”

o This statement is true.

2. (II) Men tend to perform better in teamwork and collaborative settings due to their confidence.

o The passage does not suggest that men excel in teamwork and collaboration due to their confidence.
In fact, it states that women are better suited for collaborative environments due to their empathy
and relational skills.

o This statement is false.

3. (III) Societal expectations reinforce the emotional competencies that boys and girls develop
early in life.

o The passage states: As boys and girls grow into adults, these learned behaviors are reinforced by
societal norms and expectations.”

o This statementis true.

The correct answer is: (b) Both (I) and (III) are true.

$39. Ans.(a)
Sol. In the context of the passage, “lay” is used in the phrase “lay the foundation,” which means to establish
or set the groundwork for something. Therefore, the word that has a similar meaning is establish (a). The
other options do not fit this context.
Meanings:
1. (@) Establish - This means to set up or lay the foundation for something. This matches the meaning of
"lay"” in the passage.
o Hindi meaning: ®ITI4q AT
2. (b) Cover - This means to place something over or conceal something.
o Hindi meaning: @hdT
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3. (c) Remove - This means to take away or eliminate.
o Hindi meaning: 21T

4. (d) Complicate - This means to make something more difficult or complex.
o Hindi meaning: STteet =TT

5. (e) Dismiss - This means to send away or reject.
o Hindi meaning: @THST FEAT

$40. Ans.(c)

Sol. The passage suggests that recognizing and valuing both genders' emotional strengths can foster a

more inclusive and balanced leadership. Thus, (c) can be inferred. (a) is incorrect because the passage notes

that women’s strengths are often undervalued in leadership. (b) is false because both societal and biological

factors contribute to these differences. (d) oversimplifies the issue, while (e) is incorrect as collaboration

between genders is possible, given their complementary emotional competencies.

Analysis:

1. (a) Women'’s strengths in empathy and interpersonal relationships make them more suitable for
leadership roles than men.

o The passage does not state that women are more suitable for leadership roles than men. It indicates
that women excel in empathy and relationships but that these strengths may be undervalued in
hierarchical leadership positions.

o This statement is incorrect.

2. (b) Men’s performance in assertiveness and confidence is exclusively the result of societal
conditioning, with no biological factors involved.

o The passage mentions that both biological factors and socialization shape emotional
competencies, so it is incorrect to say that men’s performance is exclusively due to societal
conditioning.

o This statement is incorrect.

3. (c) Organizations that recognize and value both genders' emotional strengths can create more
balanced and effective leadership.

o The passage supports this inference: “Recognizing and valuing these differences can help
organizations leverage the diverse emotional strengths of both genders, fostering a more balanced and
inclusive leadership landscape.”

o This statement s correct.

4. (d) Women are less likely to succeed in competitive environments because they lack confidence
and assertiveness.

o The passage does mention that men often outperform women in assertiveness and confidence, but
it does not suggest that women are less likely to succeed overall. It emphasizes different strengths
rather than a lack of ability in competitive environments.

o This statement is incorrect.

5. (e) Emotional intelligence competencies between men and women are so different that they
cannot effectively collaborate in professional settings.

o The passage does not state that the differences between men and women’s emotional intelligence
are so vast that they cannot collaborate. In fact, it suggests that recognizing and valuing both
strengths can be beneficial in workplaces.

o This statement is incorrect.

The correct answer is: (c) Organizations that recognize and value both genders' emotional strengths
can create more balanced and effective leadership.
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S$41. Ans.(d)

Sol. The passage clearly explains that societal norms play a significant role in reinforcing gender-specific
emotional skills, where men excel in assertiveness and competition, and women in empathy and
teamwork. Hence, (d) is the correct inference. (a) is incorrect as societal norms affect both genders. (b) is
false because boys and girls are socialized to develop different emotional skills. (c) is incorrect since
emotional intelligence can evolve. (e) contradicts the passage, which emphasizes the influence of
socialization.

Analysis:

1. (@) Societal norms only affect women’s emotional intelligence, particularly in developing

empathy and interpersonal skills.

o The passage states that societal norms influence both men and women, shaping different emotional
competencies for each gender (assertiveness for men and empathy for women).

o This statement is incorrect because societal norms affect both genders, not just women.

2. (b) Boys and girls are socialized in a way that equally promotes both assertiveness and empathy
in both genders.

o The passage explicitly states that boys and girls are socialized differently, with boys encouraged to
be assertive and girls encouraged to be empathetic. There is no indication of equal promotion of
both traits in both genders.

o This statement is incorrect.

3. (c) Emotional intelligence is fixed and cannot be influenced or altered once societal norms have
shaped it during childhood.

o The passage does not suggest that emotional intelligence is fixed. It implies that societal norms
shape emotional intelligence but does not say that these traits are unchangeable.

o This statement is incorrect.

4. (d) Societal expectations reinforce gender-specific emotional skills, leading to men excelling in
competitive environments and women in teamwork.

o This aligns with the passage, which explains that boys are socialized to develop assertiveness and
confidence, which help in competitive environments, while girls develop empathy and relationship-
building skills, making them more effective in teamwork settings.

o This statement s correct.

5. (e) Societal norms have no influence on emotional competencies, which are purely biologically
determined.

o The passage clearly states that both societal norms and biological factors shape emotional
intelligence. Therefore, societal norms do have an influence.

o This statement is incorrect.

The correct answer is: (d) Societal expectations reinforce gender-specific emotional skills, leading to
men excelling in competitive environments and women in teamwork.

S$42. Ans.(a)

Sol. The word “approach” means to move closer or come near something. The opposite of this would be to
withdraw or move away from something, making withdraw (a) the correct antonym. The other options
do not provide an opposite meaning to “approach.”
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Meanings:

1.

(a) Withdraw - This means to pull back or move away, which is the opposite of “approach.”

o Hindi meaning: Ti% g1

o This is the correct antonym of "approach.”

(b) Assist - This means to help or support, which is not the opposite of “approach.”

o Hindi meaning: Sg1IdT &LAT

(c) Destroy - This means to completely ruin or demolish, which doesn’t directly relate to the meaning
of "approach.”

o Hindi meaning: € %I4T

(d) Engage - This means to involve or participate, which is not the opposite of “approach.”

o Hindi meaning: 1% AT

(e) Leverage - This means to use something to its maximum advantage, which is not related to the
opposite of "approach.”

o Hindi meaning: =TH I&TAT

S$43. Ans.(c)

Sol. The correct word is encouraged (c), as the passage explains that boys are socially conditioned to
develop traits such as competitiveness and assertiveness. The other options do not accurately reflect the
positive reinforcement described in the sentence.

Meanings:

1.

(a) Persuaded - This means to convince someone to do something. It can work in the sentence, but it
implies a personal choice rather than societal influence.

o Hindi meaning: 99T, T FHLAT

(b) Discouraged - This means to deter someone from doing something, which is the opposite of what
the sentence is suggesting (as boys are not discouraged from being competitive and assertive).

o Hindi meaning: garcaTEd FTAT

(c) Encouraged - This means to inspire or motivate someone to do something, which fits the context
of boys being pushed toward competitiveness and assertiveness.

o Hindi meaning: AT d FLAT

o This is the correct word for the blank.

(d) Influenced - This means to have an effect on someone, but it's a broader term and doesn’t
specifically fit the sentence in the way “encouraged” does.

o Hindi meaning: TS FeAT

(e) Restricted - This means to limit or confine, which doesn’t fit the context, as boys are not being
restricted from these behaviors.

o Hindi meaning: s fera weAT

The correct word is (c) Encouraged.

S$44. Ans.(b)

Sol. The incorrect word in the sentence is (b) activities. The word "activities" is plural, but the verb "was"
is singular. The word activities should be "activity"” to match the singular verb “was”.

Corrected sentence:

The children's favorite activity at the camp was hiking through the forest trails.
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Meanings of the highlighted words:

1. Favorite
o English: Preferred or liked more than others.
o Hindi: TH<1aT

2. Activities
o English: Things that are done as work, hobbies, or for enjoyment.

o Hindi: iafafet

3. Trails
o English: Paths, usually in natural surroundings like forests or mountains.
o Hindi: TEET

4. Hiking

o English: The activity of going for long walks, especially in the countryside.

o Hindi: ¥ Im=T, St %

$45. Ans.(d)
Sol. The incorrect word in the sentence is (d) joe. The word should
be joy instead of "joe."

Corrected sentence: ’m

She felt an overwhelming sense of joy as she watched the sunset, its

vibrant colors painting the sky.

Meanings of the highlighted words: ALL EXAMS,

1. Watched ONE SUBSCRIPTION.

o English: To observe something or someone carefully.
o Hindi: &7 & T@T
2. Vibrant
o English: Full of energy and life; bright and striking in color.
o Hindi: SST & 9T gaAT; FHbIAT

3. Overwhelming

o English: Very intense or powerful, difficult to deal with due to its magnitude.
o Hindi: eTa swarer, forE saresT qifeswar

4. Joy (Corrected from 'Joe")

o English: A feeling of great happiness or pleasure.
o Hindi: gsff, =

$46. Ans.(d)

Sol. The correct statements are (I) and (II).

(I) is correct. "The team" is a collective noun, but it is treated as singular in this context, so "deserves" is
the correct verb form.

(IT) is correct. The sentence structure is sound, and both parts of the sentence are grammatically correct.
(III) is incorrect. The subject "Each of the students" is singular, so it should be "Each of the students was
required..."
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$47. Ans.(d)

Sol. The incorrect sentences are (I) and (1I).

(I) is incorrect. The correct form is "The manager, along with her team, was discussing..." because the
subject "manager” is singular, and the phrase "along with her team" does not change that.

(IT) is incorrect. The correct form is "If [ had known about the event earlier..." since "would have" cannot
be used in the "if" clause of a conditional sentence.

(III) is correct. The sentence is grammatically and contextually accurate.

(e) All (), (1), and (III)

$48. Ans.(b)

Sol.

(I) is incorrect. The correct form is "If you had studied harder, you could have passed the exam." The past
perfect "had" should be used instead of "would have."

(I1) is correct. The sentence is grammatically accurate and contextually logical.

(IITI) is correct. The subject-verb agreement is appropriate, and the sentence makes sense both
grammatically and contextually.

$49. Ans.(e)

Sol. The correct sequenceisC-D-E-B-F-A.

e C introduces the central topic: the bed bug outbreak in Paris. It sets the stage by mentioning the
resurgence of bed bugs in the city.

e D follows logically by discussing the concerns raised by the outbreak, focusing on the worries of both
residents and tourists.

e E explains why the outbreak is spreading so rapidly, providing a general explanation about international
travel and urban density contributing to the infestation.

¢ B elaborates on the spread, specifying where bed bugs are appearing (public transport, tourist areas,
airports), expanding on the idea introduced in E.

e F adds more details about specific locations like metros and airports, which were already hinted at in
B, making it a natural follow-up.

e A concludes the paragraph by mentioning the government’s response, which is a logical conclusion after
outlining the problem and its scope.

$50. Ans.(d)

Sol. The correct sequenceisC-D-E-B-F-A.

e C introduces the central topic: the bed bug outbreak in Paris. It sets the stage by mentioning the
resurgence of bed bugs in the city.

e D follows logically by discussing the concerns raised by the outbreak, focusing on the worries of both
residents and tourists.

¢ E explains why the outbreak is spreading so rapidly, providing a general explanation about international
travel and urban density contributing to the infestation.

e B elaborates on the spread, specifying where bed bugs are appearing (public transport, tourist areas,
airports), expanding on the idea introduced in E.

e F adds more details about specific locations like metros and airports, which were already hinted at in
B, making it a natural follow-up.

e A concludes the paragraph by mentioning the government’s response, which is a logical conclusion after
outlining the problem and its scope.
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$51. Ans.(b)
Sol. The correct sequenceisC-D-E-B-F-A.

C introduces the central topic: the bed bug outbreak in Paris. It sets the stage by mentioning the
resurgence of bed bugs in the city.

D follows logically by discussing the concerns raised by the outbreak, focusing on the worries of both
residents and tourists.

E explains why the outbreak is spreading so rapidly, providing a general explanation about international
travel and urban density contributing to the infestation.

B elaborates on the spread, specifying where bed bugs are appearing (public transport, tourist areas,
airports), expanding on the idea introduced in E.

F adds more details about specific locations like metros and airports, which were already hinted at in
B, making it a natural follow-up.

A concludes the paragraph by mentioning the government’s response, which is a logical conclusion after
outlining the problem and its scope.

S$52. Ans.(a)
Sol. The correct sequenceisC-D-E-B-F-A.

C introduces the central topic: the bed bug outbreak in Paris. It sets the stage by mentioning the
resurgence of bed bugs in the city.

D follows logically by discussing the concerns raised by the outbreak, focusing on the worries of both
residents and tourists.

E explains why the outbreak is spreading so rapidly, providing a general explanation about international
travel and urban density contributing to the infestation.

B elaborates on the spread, specifying where bed bugs are appearing (public transport, tourist areas,
airports), expanding on the idea introduced in E.

F adds more details about specific locations like metros and airports, which were already hinted at in
B, making it a natural follow-up.

A concludes the paragraph by mentioning the government’s response, which is a logical conclusion after
outlining the problem and its scope.

$53. Ans.(c)
Sol. The correct sequenceisC-D-E-B-F-A.

C introduces the central topic: the bed bug outbreak in Paris. It sets the stage by mentioning the
resurgence of bed bugs in the city.

D follows logically by discussing the concerns raised by the outbreak, focusing on the worries of both
residents and tourists.

E explains why the outbreak is spreading so rapidly, providing a general explanation about international
travel and urban density contributing to the infestation.

B elaborates on the spread, specifying where bed bugs are appearing (public transport, tourist areas,
airports), expanding on the idea introduced in E.

F adds more details about specific locations like metros and airports, which were already hinted at in
B, making it a natural follow-up.

A concludes the paragraph by mentioning the government’s response, which is a logical conclusion after
outlining the problem and its scope.
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S$54. Ans.(e)

Sol. The correct sentence is only (II).

(I) is incorrect. The correct form is "The children were playing..." since "children" is plural and requires
"were."

(IT) is correct. The past perfect tense "had started" is appropriately used to show that the concert began
before the arrival.

(III) is incorrect. The correct form is "Neither of the candidates was prepared.." because "neither" takes a
singular verb.

S$55. Ans.(b)

Sol. The incorrect statements are (I1I) and (III).

(I) is correct. The sentence is grammatically and contextually sound.

(I1) is incorrect. The correct phrase is "Despite the heavy traffic," not "Despite of."

(III) is incorrect. The correct form is "She has been working on the project for six months..." because "for"
is used to indicate a duration of time, not "since."

$56. Ans.(a)
Sol. The incorrect word in the sentence is (a) priase. The correct spelling should be "praise” instead of
"priase."
Corrected sentence:
When the crown was placed on the head of the newest king, all of the people at the coronation went wild
with praise.
Meanings of the highlighted words:
1. Praise
o English: Expression of approval or admiration.
o Hindi: T9M™T
2. Newest
o English: Most recent; latest.
o Hindi: &% 747

3. Crown
o English: A ceremonial headpiece worn by a monarch.
o Hindi: a5t

4. Coronation
o English: The act or ceremony of crowning a monarch.

o Hindi: TTsaTfau=F

$57. Ans.(a)
Sol. The incorrect word in the sentence is (a) vaccation. The correct spelling should be "vacation” instead
of "vaccation."
Corrected sentence:
Because we did nothing but sit in the hotel room, our vacation was vapid and uninteresting.
Meanings of the highlighted words:
1. Vacation
o English: A period of rest or travel when one is not working.

o Hindi: g, saarer
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2. Vapid
o English: Lacking in liveliness, flavor, or interest.
o Hindi: 7F1¥H, 9&a12
3. Hotel
o English: A building where travelers can pay for lodging and meals.
o Hindi: glee
4. Uninteresting
o English: Not holding interest or attention; dull.
o Hindi: 3973, s=~=FH<

$58. Ans.(e)
Sol. The correct answer is (e) charity.
Here's a breakdown of the options and their meanings in both Hindi and English:
(a) atrocity
e Meaning in English: A cruel and violent act, often involving great suffering.
¢ Meaning in Hindi: 311X (atyachaar)
e Why incorrect: This word refers to extreme cruelty or violence and doesn't fit the context of helping
underprivileged children.
(b) clarity
e Meaning in English: The quality of being clear and easy to understand.
e Meaning in Hindi: ¥7¥dT (spashtata)
e Why incorrect: This refers to something being understandable or transparent, which does not
make sense in the context of donating money to help children.
(c) calamity
¢ Meaning in English: A great disaster or serious misfortune.
e Meaning in Hindi: F9f (vipatti)
e Why incorrect: This word refers to a disaster, which is not relevant in the context of an organization
helping children.
(d) acidity
e Meaning in English: The level of acid in substances, or a sharp or bitter manner.
e Meaning in Hindi: 3#7dT (amlta)
e Why incorrect: This word refers to a chemical property or sometimes a sharp tone in
communication, and it doesn't make sense in the context of supporting children.
(e) charity
e Meaning in English: An organization that helps people in need, often with donations.
e Meaning in Hindi: &/¥T% & (dharmarth sangathan)
e Why correct: This word refers to an organization that helps underprivileged people, which aligns
perfectly with the sentence context.
Thus, "charity" is the correct and meaningful word for the sentence.

$59. Ans.(d)

Sol. The correct answer is (d) prestigious.

Here's a breakdown of the options and their meanings in both Hindi and English, and why they are correct
or incorrect:

(a) ignorant - This means lacking knowledge or awareness, which is inappropriate in this context.

Hindi meaning: sT=T
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(b) latent - This means existing but not yet developed or visible. It doesn’t fit the context because the
artists mentioned are already recognized and visible.
Hindi meaning: 39
(c) removable - This means able to be removed, which doesn’t apply to artists or their status.
Hindi meaning: T4 T7%
(d) prestigious - This means having a high status, respected or admired, which perfectly fits the context
of renowned artists.
Hindi meaning: sfafsa
(e) religious - This refers to someone with strong religious beliefs, which is unrelated to the context of art.
Hindi meaning: &Tfd=
$60. Ans.(a)
Sol. The correct answer is (a) profound.
Here’s the explanation of the options in both Hindi and English, and why they are correct or incorrect:
(a) profound
e Meaning in English: Having deep insight or a strong effect; something that is very intense or
meaningful.
e Meaning in Hindi: 2T (gahara), srcaTers TATATE T (atyadhik prabhavshali)
e Why correct: This word fits the context perfectly, as it describes a deep and significant impact on
her perspective, which aligns with the idea of changing how she viewed the world.
(b) tripping
e Meaning in English: Stumbling or falling over something.
e Meaning in Hindi: 37%< @T9T (thokar khana)
e Why incorrect: This refers to physical stumbling, which doesn't fit the context of describing the
emotional or mental impact of a book.
(c) encroach
¢ Meaning in English: To gradually invade someone's space, rights, or time.
e Meaning in Hindi: 3TfasA 97 AT (atikraman karna)
e Why incorrect: This word refers to intruding or violating someone's space, which does not fit the
context of a book influencing someone's perspective.
(d) oversea
e Meaning in English: Relating to foreign countries, often across the sea.
e Meaning in Hindi: [@=eft (videshi), ¥ T1¥ (samudra paar)
e Why incorrect: This word is related to geographical locations, and doesn’t fit with describing the
impact of a book on her perspective.
(e) accurately
e Meaning in English: Correct or precise.
e Meaning in Hindi: 92T (sahi), @& (satik)
e Why incorrect: It is grammatically incorrect.
e Thus, "profound” is the best fit as it effectively conveys the idea of a significant change in her
worldview.

$61. Ans.(b)
Sol. The correct answer is (b) chaos.
Here's the explanation of the options in both Hindi and English, and why they are correct or incorrect:
(a) concur
e Meaning in English: To agree or have the same opinion.
e Meaning in Hindi: ¥g9d T (sahmat hona)
e Why incorrect: This word refers to agreement or harmony, which doesn’t match the context of
describing a state of confusion due to a power outage.
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(b) chaos

e Meaning in English: Complete disorder and confusion.

¢ Meaning in Hindi: 3T7SThdT (arajakta), 3r=A9#T (avyavastha)

e Why correct: This word fits perfectly as the sentence describes a city in confusion and disorder due
to a power outage, leading to traffic jams and confused crowds.

(c) Growth

e Meaning in English: The process of increasing in size, number, or significance.

e Meaning in Hindi: ‘{@;’ (Vriddhi)

e Why incorrect: "Growth" refers to development or expansion, which does not fit the context of
confusion and disorder caused by a sudden power outage. The sentence describes chaos and
disruption, not improvement or development.

(d) peculiar

e Meaning in English: Strange or unusual.

e Meaning in Hindi: 3TSTIe (ajeeb), SETHT (asamany)

e Why incorrect: This word refers to something unusual, but it doesn’t fully capture the level of
disorder described in the sentence.

(e) nascent

¢ Meaning in English: Just coming into existence or beginning to develop.

e Meaning in Hindi: ST (prarambhik), 79T (navjat)

e Why incorrect: This word refers to something new or in the early stages, which doesn’t match the
description of a city in chaos due to a power outage.

Thus, "chaos" is the most appropriate word to describe the disorder and confusion caused by the sudden
power outage.

$62. Ans.(c)
Sol. The correct answer is (c) activated.
Here’s the explanation of the options in both Hindi and English, and why they are correct or incorrect:
(a) weltered
¢ Meaning in English: To move in a turbulent or uncontrolled manner.
e Meaning in Hindi: 39TAAAT (ulajhna), ©Ts@sT4T (ladhakdana)
e Why incorrect: This word refers to chaotic or uncontrolled movement, which doesn’t fit the context
of the machine beginning to operate smoothly.
(b) invoked
e Meaning in English: To call upon or cite something (e.g., a rule, law, or authority) for support.
e Meaning in Hindi: 39T &<AT (aahvan karna)
e Why incorrect: This word refers to calling for something, often abstract, like support or authority,
and doesn'’t fit the context of starting a machine.
(c) activated
e Meaning in English: To cause a device or system to start functioning.
e Meaning in Hindi: S5 FAT (sakriya karna)
e Why correct: This word is perfect for the context, as it describes turning the machine on and it
starting to work smoothly after the switch was flipped.
(d) captivated
¢ Meaning in English: To hold someone’s attention or interest.
e Meaning in Hindi: ¥1T2d AT (mohit karna)
e Why incorrect: This word refers to capturing attention or fascination, which doesn’t make sense
when talking about a machine starting to work.
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(e) deactivated
e Meaning in English: To turn off or stop something from functioning.
e Meaning in Hindi: [R5 F¥AT (nishkriya karna)
e Why incorrect: This word means to stop a machine or device from working, which is the opposite
of what the sentence is describing.
Thus, "activated" is the best fit as it describes the machine starting and operating smoothly.

$63. Ans.(a)

Sol. The phrasal verb "come up" means to arise, be mentioned, or become available. It can also refer to

events or opportunities appearing. It does not refer to literal actions that are factually incorrect.

e Sentence (A) correctly uses "come up" to refer to an issue being mentioned or arising during a meeting.

¢ Sentence (B) also correctly uses "come up" to describe an opportunity becoming available.

¢ Sentence (C) is incorrect because it states a factual impossibility — the sun does not come up in the
west.

Therefore, the correct answer is (a) Both A & B.

S64. Ans.(d)

Sol. The phrasal verb "get across" means to successfully communicate or convey an idea, message, or

information. It does not refer to physically crossing an obstacle like a mountain.

e Sentence (A) is incorrect because it refers to physically crossing a mountain, which is not the idiomatic
use of "get across."

¢ Sentence (B) correctly uses "get across" to describe communicating complex data in a clear manner.

e Sentence (C) also correctly uses "get across" to describe conveying a point effectively using visuals.

Therefore, the correct answer is (d) Only A

$65. Ans.(d)

Sol. The phrasal verb "check out" has multiple meanings: it can mean settling your bill and leaving a place
(like a hotel), borrowing something (like a library book), or investigating or looking at something
interesting.

e Sentence (A) correctly uses "check out" in the context of leaving a hotel.

e Sentence (B) is also correct, as it refers to borrowing books from a library.

e Sentence (C) correctly uses "check out” to suggest investigating a new restaurant.

Therefore, the correct answer is (d) All A, B, C.

Sol. (66-70):

TECK * forg

X 3T Y g 947 T2 915 = 328

Y g7 9= T2 912w = 210

X ETT a4 TS 972 = 328-210=118
Tl T,

A X I St TS 9T Y ST ST TS q156 (X 3R Y) EIRT =T TS FX
K 118 210 450
L 240 320 980
M 350 90 730
N 425 195 350
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$66. Ans.(b)

Sol. «T2% K Y 31T A=A ¢ <1 1 F71 #%T = = x 210 = 84
g K & X GTT =1 TS FIX #l Fef T&AT = 450 - 84 = 366
g siav = 366 - 350 = 16

S$67. Ans.(e)
Sol. /2% N H X ZTT I T Tl FoeA &7 —>< 350 = 280

ET N H Y GIRT =1 T 1 il e |e&dT = 350 - 280 =70
e o aTa = 70 : 210 = 1:3

ALL EXAMS,
ONE SUBSCRIPTION.

$68. Ans.(a)
Sol. 9TE¥ L & X 51T &=t € F12Y it F1 HAT =980 X = = 420
e 3d¥ = 420 - 195 = 225

$69. Ans.(b)
Sol. arsfre wiera =35‘;;§5° x

100 = 0%

$70. Ans.(a)

Sol. /T M H Y GTT 9=T % T ol et H&AT = 200 + 240 = 440
T M H X TR &= TS 1 o0l oed 64T = 730 - 440 = 290
e TR = 22 % 100 = 64.44% ~ 64%

Sol. (71-75):

FTAFRT

2021 ¥ A gTT =T TS %t A& 1 1/3 = 600

2021 ® =T = FEGAT T Fof §&AT = 600 X 3 = 1800
2022 H A g7 =0T T2 Fet =gl 1 1/3 = 700

2022 F =T T2 FEGAT T Fof §&AT =700 X 3 = 2100

120

2023 ¥ F={1 T FrEqe i1 o HeqT = — x 1800 = 2160

THI T,

THE 2021¥ 2022 2023 ¥
A 1800 2100 2160
B 1260 1620 1512

C 900 1080 1080
D 1560 600 1872
E 840 1440 1008
S$71. Ans.(c)

Sol. srefrg wfdera = 222

X 100 = 10.8 =~ 11% (FHATH)
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$72. Ans.(c)
Sol. 3T¥TE 3T 9Td = 1620 : 1080
=3:2

$73. Ans.(a)
Sol. 37571 397 =(1800 + 1260) — (1872 + 1008)
= 3060 — 2880 = 180

S$74. Ans.(d)
Sol. 37T T T = 2160 + 1512 + 1080 = 4752

$75. Ans.(a)
Sol. AT AT H A T 94T T T&q3Al il % §&AT = 1800 + 2100 + 2160 = 6060
FATY 31T = 6060 - (1512+1872) = 2676

$76. Ans.(c)
Sol. =@ #T e 7
188, 177, 199, 166, 210, 155, 221

-11 +22 -33 +d4.4 -55 +66

$77. Ans.(c)
Sol. FEHT FT Jed g
18225, 6075, 2025, b75, 225, 75, 25

=3 =3 +3 +3 +3 =3

$78. Ans.(e)
Sol. FEHT & Ted g
210, 228, 250, 274, 302, 332, 366

18 22 24 28 30 34
4 2 4 2 4
$79. Ans.(a)

Sol. =@ &7 e 7
304, 308, 316, 332, 364, 428, 556

4 8 16 32 64 128

$80. Ans.(b)
Sol. =@ &7 e 7
2194, 2175, 2152, 2123, 2092, 2055, 2014

19 23 29 31 37 41
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S$81. Ans.(b)

Sol. 40 T 5% + 450 1 10% =?
2+45=?

47 =7

- Jine.

Sol. V841 + 361 FT i—: —7% 5

295 =75
59 =7

ALL EXAMS,
ONE SUBSCRIPTION.

$83. Ans.(d)

Sol. 123 — 108 = 400 FT 25% +?
1620 = 100+?

1520 =?

S$84. Ans.(e)

600 FT32% | 1
Sol. To 3 =72—16

96x 4 =7?— 16
400 = 72
20=7

$85. Ans.(b)

Sol. (% - g) =?7+12
(16 -2) =7+ 12

96 =7

$86. Ans.(a)
Sol. HTHT, T FTT (4 3T 24 FT AT = 24 THS

A, B ST C Y H=F 2eraT = 2 = 6 TS /R

4

BT zerar == = 1z /Rw
CHraerar=1x 4 = 4z /R
AfreAar=6-1-4 =1 z%15/Rw

A Q@ H § e aar = 2 = 24 R

1

C 5T i 2T et # formr o A = 2 = 6 R
gt eqr=24-6=18f=

$87. Ans.(b)
Sol. AT P 3T Q T AcHT 31T FAL: 2x 3T x+4 TY &

Raﬁ- <1; 3“_%: 2x+x+4 — 3x+4

2 2
ATQ,

3x+4
> =16+ 10

3x+4=52=>x=16
P T AT o = 32 99
Q #T ATHTT &M = 20 AW
AT IRT=32+20+ 26 =784
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$88. Ans.(d)
Sol. ATAT ToET A 7 fHerer it 7w wrfar = X =03
T, T B/ fRaer & € 7fer = 12200 - x =07

10% Z¥ 9T THIT Fhd (5 4T = 10 +10 +1223°
§ 5 2L _ (12200-1)x4x10

100 100
61X =12200 x4 x 10

X = 8000 =7

=21%

$89. Ans.(d)

Sol. ATH T AqUTd =
A : B : C

12x12 @ 12xx : 8x(12-x)
36 3x o 2(12-x)

ATQ,
36 _ 1800

60+x 3200

60 +x =64

x=4

$90. Ans.(c)

Sol. TTAT 2 A FiT fars = 1 Hiex

A 9T 2 A iy A = S Hiew /A
ATQ,

& B Ay = 220 25 wfew/dE

STAfraf, s =222 ()

29
A,25 -5 =

450+1
160
450+1
§S=25-
160

(i)
(i) UF (ii) T & FLA UL :

1+450 1+230
=25—
160 29

1=350 Hiex
srcr:,a-rrAa?rTr%:“OZ#: 20 Her/T%e
STWW:%: 20 TS

S91. Ans.(e)
Sol. STTT ST # ATE ¥ T TAT &TT T T HHLT: X TATy

gfie e =—230 _— 10952

T (4-1)x16
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$92. Ans.(a)

Sol. AT T To 100x ¥9I &
ST 97 = 160x &9
o 9o = 128x =07

160x—128x

igagﬁ = ——jﬁiig——-><i10()
22X 100 = 20%

160x

ATQ
4d=20
d=5

AT fo T 977 =160x X

100—(6x5)

100
AT O = 122X7100% o 100 = 129%
100x

112x

$93. Ans.(c)
Sol. ITAT fH=1T A H &1 3fI< ITT T JAT FHL: 91 < 51

fovsror B # gar T ATAT= 91 X 8 = 2 |

TAT Fr=1o7 B & 911 &Y /7197= 51 X g — 4]
ATQ

51+41=54

1=6

T:, AT HTAT =9+5 =141 =84 12T

$94. Ans.(b)

Sol. FeAT FT T a1 =(24 + 6) X 40 = 1200 =T

FEAT H 24 AZHI T T a1 =24 X (40 — 4) = 864 T
_1200-864

w1 i =——— = 56 faT

$95. Ans.(b)
Sol. ATAT AT T FaT 3T ATSTS FHET: 1 HIeT 3T 'b' HieT Bl
. A9 A ST =] HIeT

2(3x+2x)=40
x=4
AT AT ATSTS = 2x = 8 Hiex
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Solutions (96-100)

3T 77, B 317 ST 10 e 9/ = 50

HTAT A ZTRT ST 30 I S1¥ B FTT 8TY U e 0 FHHL: 3x 3 2x 8
A ZT T 7T %ef Fe = 3x xg = 4x

ATQ,
4x + 50
=105
2
4x + 50 = 210
4x = 160
x =40

cm@ﬁ%rwq@—«rﬁw=80x§ =96
'srﬂ'i%nz,cm@—c«r@%ﬂ'qﬁtr=96xz=120

St 1R
A 120 160
B 50 80
C 96 120
$96. Ans.(b)

Sol. a7t sraTa = 120 : 120 = 1:1

$97. Ans.(a)
Sol. wrsfre afyer = % x 100 = 66.67%

$98. Ans.(e)
Sol. ersfig 7T = 160 + 80 = 240

$99. Ans.(a)

Sol. D ZT¥T g1 T e 1 = 2 X 160 = 200
Dm@ﬁ%rwq@rﬁw=9§+ 5 =753

w+fie #a¥ = 200 - 53 = 147

$100. Ans.(d)
Sol. wr+ft e = m*zﬁ — 96.67

ALL EXAMS,
ONE SUBSCRIPTION.
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